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create table test_easy(coll number, col2 number, col3 varchar2(20));

begin
for 1 in 1..1000 loop

insert into test_easy values( i, mod(i,5),'dummy') ;

end loop

end

/

select * from test_easy order by coll ;

coll col2 col3
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update test_easy set col3="Bd' where col2=1
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create table test_num(coll number, col2 number );
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begin
dbms_random.SEED(1) ;

for 1 1n 1..100000 loop

insert into test num values(i, ceil(dbms_random.value( 1, 1000000000)))
end loop

end
/

select count(*) from (
select col2, count(*) from test num

group by col2 having count(*)>=2);

1I~10 EOEOFEIHT, 10 THO LV a— Ra2Eld2 &, EEL WD La— I3



BERBIZE# % o 7= INSERT LB D EF&EIE (/N)LY Insert JLIE)

H o COESIERIZER L a— ROzt y L TEBE,
Zih % 1m0 SQL AL < INSERT 4% 3L~ INSERT 4LEL

- T—TIVIEH

CREATE TABLE <5 —7 /14>
(11 F—sm |
% 2 T—HE )

K

-- 2L INSERT %#EAT
DECLARE
- 1. LARGE_TBL L =— NEXOESIE S

TYPE <=a—#—E&M4> IS TABLE OF <7—7 14 >%ROWTYPE

INDEX BY binary_integer ;

<BlHIEH4 > <n~$WE%@%>;
BEGIN
-2, BdA I fE & By R
FOR i IN1 .. 1000000 LOOP
—> <ESIEHA>(1)5A 1 = 1
—> <ESIEHL > ()54 2 = E
END LOOP;

-- 3. 2N INSERT %17

FORALL i in 1..1000000 INSERT INTO

VALUES <@ Z&%54 > (1)
COMMIT ;

END ;
/
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CREATE TABLE LARGE TBL(ID NUMBER, VALUE VARCHAR2(50));

- 237 INSERT 47

DECLARE
--1. LARGE_TBL L 22— FERXROESNIE S
TYPE tblins IS TABLE OF LARGE_TBL%ROWTYPE
INDEX BY BINARY_INTEGER ;

w_ins tbl ins

BEGIN
S T 7 I S [ Nl e
FOR 1 IN 1 .. 1000000 LOOP
w_ins(i).ID = 1i;
w_ins(i).VALUE := ‘'foobar';
END LOOP;

-- 3. »\L7 INSERT Z17
FORALL 1 in 1 .. 1000000 INSERT INTO LARGE_TBL
VALUES w_ins(i);
COMMIT ;
END ;
/
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Select Al.value

from LARGE_TBL A1, LARGE_TBL A2, LARGE_TBL A3
Where Al.Value = A2Value and Al.Value = A2 Value

and A2.Value = A3.Value

and Al.ID Between 6 and 80000

and MOD( A2ID, 5) = 3;



